= o
A & 0l & AF 2 E A A
R s R SE=an);
M MIHME AE
g4 d2Hs 84 XY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ME&sH 19,405,225 32,127,899 A12,722,674
Xl 800,000
J| 3,616,429
< 293,357
Al 14,695,439
MH=s &S 19,333,578 32,059, 385 A12,725,807
X 800,000
J| 3,616,429
< 293,357
Al 14,623,792
HE2HE 24 X& 9,379,166 11,783,683 AN2,404,517
= 206,006
Al 9,173,160
H2HE |4 24 1,772,592 1,273,842 498,750
201 2et2d]| 1,800 1,800 0
01 At 2teltl 1,800 1,800 0
OAEH=HA &= M 1,400
O&zd 70,000& = 103l 700
OAAHE 70,000& = 103l 700
OAZ MESHA A& 3H& 100,000& =+ 43l 400
202 o4dl 2,400 1,920 480
01 = LH o4 1l 2,400 1,920 480
OUZHSHAMFTA AST O
20,000& = 3 * 48 * 103l 2,400
203 R =& 3,000 3,000 0
03 A F=XH R =ZH| 3,000 3,000 0
o4& H=dA=a 2,000,000& 2,000
OM=ESAE gRF2 1,000, 000& 1,000
307 glz2tol & 1,765,392 1,267,122 498,270
02 It M AHE X 967,000 881,000 86,000
O&=FC XI& 250,000,000& * 13| 250,000
OFFAM=S N3 AL 707,000
OBFA Sads SHBE
100,000,000& * 13l 100,000
OFFA 2+3UR 84X
150,000,000& * 13l 150,000
OBFA S4H+H SaE
10,000,000& * 13l 10,000
OBFHNNMESRY X2
17,000,000& * 13l 17,000
Os=sz2dsls &=H
300,000,000& * 12l 300,000
O&d=MsUz &8 55,000,000 = 13l 55,000




SN MSAED
M MIHME AE
oelr M2HS 84 X (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Od=34AdMEUH &=H
26,000,000& = 13l 26,000
OAMAH & d=TH
10,000,000& * 13l 10,000
OANZUE IH0UEUS =M
19,500,000& * 23| 39,000
O=HMHSLF AL 10,000,000 * 13l 10,000
03 2IAHHEE2HH 798,392 386, 122 412,270
OFFANMES MR= 29 798,392
OJl=23(13g) 392,470,000 392,470
OF=1 156,407,000& 156,407
OfE=E ==t 102,700, 000& 102,700
Og R8I 3,300,000& 3,300
O ZH| 15,600, 000& 15,600
O=U0otl 15,600, 000& 15,600
OgEr 3| 112,315,000& 112,315
EFAEI BAUS 8,000 ,000 0
307 glz2tol & 8,000 ,000 0
04 DI2HHALALSE E X 8,000 ,000 0
ON333 HFAIZI HFFU
8,000,000& = 13l 8,000
EF=ANEI S 8,000 ,000 0
307 21201 A 8,000 ,000 0
04 DIZHHALALSE E X 8,000 ,000 0
OHM253 HF=AEI EHUE
8,000,000& = 13l 8,000
E=AZEI HUADS 6,000 ,000 A 2,000
307 21201 A 6,000 ,000 A 2,000
04 QIZFHALAIH B = 6,000 ,000 A 2,000
OM40s HEF=AEI HILIATE
6,000,000 = 13l 6,000
HFAEI 22UH3 8,000 ,000 0
307 glz2+ol & 8,000 ,000 0
04 QIZFHALAIH E = 8,000 ,000 0
OHM30a HF=AIED th =l
8,000,000& =+ 13l 8,000
EFAED BHEZUS 15,000 ,000 0
307 glz2tol & 15,000 ,000 0
04 QIZFHALAIH E &= 15,000 ,000 0
OHM20&8 HFAIZED HEU3
15,000,000& * 13l 15,000




2A4: MEIEDL
M AN HE AE
o9 MRHS 54 X8 (B9 ®R)
_ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
HEANED JAEUHEEZ2UE 20,000 20,000 0
307 2Iz2t0| A 20,000 20,000 0
04 SIZ2ISHAAISH E & 20,000 20,000 0
OHM193 HZ=AIZED| REEUHE=UHT
20,000,000& * 13| 20,000
HEF=ANED 203 8,000 8,000 0
307 212t0| & 8,000 8,000 0
04 SIZ2ISHAAISHE E X 8,000 8,000 0
OHM153 HEF=AIZI| 20U 3
8,000,000& = 13 8,000
HF=ANEDI =903 8,000 8,000 0
307 QI2t0| ™ 8,000 8,000 0
04 CIZ2tSHALALSE B X 8,000 8,000 0
OHM153 H=AIZD| =903
8,000,000 = 13| 8,000
HFEAED BEZU3I 13,000 13,000 0
307 giztol A 13,000 13,000 0
04 QIZ2tSHALALS B X 13,000 13,000 0
OHM143 HE=AIZD| SZ3
13,000,000 = 13| 13,000
HFEAIED| HISU 3 12,000 12,000 0
307 2iz2to| & 12,000 12,000 0
04 SIZ2HSHAAISH E & 12,000 12,000 0
OHM103 HE=AIZD| HISU 3
12,000,000& = 13l 12,000
HFEAEI HAAZXF 15,000 20,000 A5,000
307 2Iz2t0| & 15,000 20,000 A5,000
04 SIZ2HSHAAISH E & 15,000 20,000 A5,000
ONB8al HFTAEI HAALIX[HSI
15,000,000& = 13 15,000
HF=ANEI E+HEUEHU S 10,000 13,000 A 3,000
307 2I2t0| & 10,000 13,000 A 3,000
04 SIZ2ISHAMAISHE E X 10,000 13,000 A 3,000
OM93 HF=AIEDI BHECIE U3
10,000,000& = 13 10,000
HF=ANEDI NEUSE 8,000 8,000 0
307 QI2t0| & 8,000 8,000 0
04 CIZ2tSHALALS B X 8,000 8,000 0
OM3& HZ=AIZI WNEUSI
8,000,000 = 13| 8,000




R s R SE=an);
M MIHME AE
gelr d2Hs |4 X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EFANEI SEU3 8,000 8,000 0
307 gl2tol & 8,000 8,000 0
04 DI2ZHHALALSE E X 8,000 8,000 0
OHM6sl HFAHEI RZ=U3
8,000,000& = 13l 8,000
EFANEI SHUS 6,000 8,000 A 2,000
307 21201 A 6,000 8,000 A 2,000
04 DIZHHALALSE E X 6,000 8,000 A 2,000
OHM3s HFAIEI S4&U3
6,000,000& = 13l 6,000
E=AZEI| AOISMTBAHE HTH 3 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 QIZFHALAIH B = 8,000 8,000 0
OHM33 HFAIZEI| ALOISMTBAHE HIH S
8,000,000& = 13l 8,000
EFAED U3 12,000 8,000 4,000
307 glz2+ol & 12,000 8,000 4,000
04 QIZFHALAIH E = 12,000 8,000 4,000
OXN4sl HF=AIZH B2
12,000,000& = 13 12,000
EFAED Z2=U3 8,000 8,000 0
307 glz2tol & 8,000 8,000 0
04 QIZFH AL AR 2 X 8,000 8,000 0
OHM19al HFAHEI 2=Us
8,000,000& = 13l 8,000
EFANTH R4A8E k20 E 8,000 8,000 0
307 gl2tol & 8,000 8,000 0
04 QIZFH AL AR 2 & 8,000 8,000 0
OHM33 HFAIZEH 44 OFRUE
8,000,000& = 13l 8,000
28 &= 2 T3 i 14,000 20,000 A 6,000
307 21201 A 14,000 20,000 26,000
04 DIZHHALALSE E X 14,000 20,000 A 6,000
Os=2g &= 2 AEHAUS Mzl
1,400,000& * 102l 14,000
dIR==H 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIH B & 5,000 5,000 0
02017 ¥=2R==H % EIEH2UI
5,000,000& = 13l 5,000




2A4: MEIEDL
M AN HE AE
GHe: M2Eds 84 AH (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
HFEAXNZHHAATIX A=A 30,000 30,000 0
307 2Iz2t0| A 30,000 30,000 0
04 SIZ2ISHAAISH E & 30,000 30,000 0
OHM133 XU 2 HMHAAZRSHLANS
30,000,000& = 13 30,000
HI2AAANLLAUS 15,000 15,000 0
307 212t0| & 15,000 15,000 0
04 SIZ2ISHAAISHE E X 15,000 15,000 0
©2017 3= AKX 8= AFHA HAEEY
15,000,000 = 13| 15,000
XX =2 =.0.0 3tH3=sT3 30,000 40,000 A 10,000
307 QI2t0| ™ 30,000 40,000 A 10,000
04 CIZ2tSHALALSE B X 30,000 40,000 A 10,000
OHM11g AXH =2 =.10.00 303 72U 3
30,000,000 * 13| 30,000
HE) =203 200,000 200,000 0
& 100,000
Al 100,000
307 gizto| A 200,000 200,000 0
& 100,000
Al 100,000
04 CIZ2tSHALALS B = 200,000 200,000 0
OHM108 HEEJ d=2REZU3I
200,000,000 = 13 200,000
& 100,000
Al 100,000
=2 HEoIZ2EUE EHU3 20,000 20,000 0]
307 2izto| A 20,000 20,000 0
04 CIZ2tSHALALS B 20,000 20,000 0
©2017 UetAte 8=20{el0I2 224U 2
20,000,000& * 13l 20,000
HIMHA) M= . 2= 40,000 40,000 0
307 2Iz2to| & 40,000 40,000 0
04 CIZ2ISHAAISH E & 40,000 40,000 0
OHM14s HEMIAMN) A2 . 203
40,000,000 = 13| 40,000
MEARE HIIB 84 6,661,562 6,893,341 A231,779
201 gBt2Ad| 125,286 167,871 N 42,585
01 AF 22| H| 700 30,800 A 30,100
o2se 2 Y AU 9L H#29
70,000& = 10H 700




R s R SE=an);
g MME &S
gelr d2Hs |4 X (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
02 =224l 120,586 133,071 N 12,485
OXF2ESEIIR =429 56,100
(OFS = 90,000& = 105 = 128 10,800
OZAIAE 160,000& » 108 » 12&€ 19,200
OZeldl 200,000& = 10 = 128 24,000
Otz 2,500& * 108 = 128 300
Oddot+== 15,000& » 108 » 128 1,800
OHZE dEM=E=2 2 3,120
(OFSpy=1 250,000& = 12& 3,000
Ot = 10,000& * 123 120
OS2 AHWUZ Y 3,000,000& » 6&5= 18,000
O HAZHI(LZ,BE AAR) 1,950
OHUSw 7223 * 30084 * 3 + 3 1,950
O2s® dEXE A=
1,173 « 74 = 20 » 1000 » 123 18,766
O2s% H2XY USIAH 1650002 * 1004 1,650
ORES® M2XUY PR 700,002 * 10CH 7,000
OSSRABNY BANLRLS
50,000& = 10CH = 23] 1,000
o= |AE=H 300,000 * 10742~ 3,000
OSME=A(ZTE2SZTU) 22323(HI,>
<) 5,000,000& 5,000
OHFAZH 2RI (I, RFH,=5)
5,000,000& 5,000
03 AH2 S HI 4,000 4,000 0
OXE2SZIIF steo & A 4,000,000& 4,000
202 044l 2,426 2,426 0
01 SLHOYI 2,426 2,426 0
ONYESHIIL 2Y L KIS AST O
=]l 75,800& * 2 * 8 * 23 2,426
206 M= Hl 265,450 401,850 A 136,400
01 =4l 265,450 401,850 A 136,400
OHA 2387 =dEZF ¥ FH 50,000
Ostarel 243 40,0004 = 258 = 50& 50,000
OSc® =& ¥ FIISES 33,600
OEeate 53 800,000& * 68 ~ 78 33,600
OZTR =EHESZ & FHH 24,000
O=&2 s 40,000& = 128 = 50& 24,000
OHZER =& & ZJIES 21,600
OHZE==2 11& 60,0008 * 125 » 308 21,600
ONZEIZZSR =8 2 HIIES 6,250
OZJI3te 4F 25,000% = 58 * 50% 6,250
OZOQ AHSF =& ¥ FHl 20,000




M HSUED
g MME &S
gelr d2Hs |4 X (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
O&aEte 98 40,000& * 10& = 50& 20,000
OHIL=R 2dES & FH| 50,000
Ostatel 245 40,000& * 25& = 50& 50,000
OLEANAE EHES & FHl 60,000
O&Etel 298 40,000& = 30& * 50& 60,000
301 et a = 6,233,400 6,027,756 205,644
izt - 2sRsSEY=S 6,233,400 6,027,756 205,644
o2s® ¢A(Hs) 3,637,800
ozg= 60,000,000& * 69 360,000
oz= 54,000,000& = 3¥ 162,000
OZ2X 51,000,000& « 4& 204,000
O=2X 46,800,000 * 29 93,600
OEd ol 38,400,000& ~ 1H 38,400
Od = 63,000,000 * 49 252,000
Od = 53,400,000& =« 5¢ 267,000
Od = 44,400,000& * 10 444,000
Od = 40,800,000& =+ 35¢& 1,428,000
Od = 32,400,000& = 4H 129,600
Od= 46,800,000 * 29 93,600
Od = 43,200,000& « 3& 129,600
Obldgeds =sdd=
500,000& = 6% = 128 36,000
OXNF2SIIR sl 46,800
og= 300,000& = 9% = 128 32,400
O=2x 150,000& » 8% « 12& 14,400
o2sF &t 1,319,100
Oz 4| 540,000& = 7998  12& 511,920
O==H| 35,000& = 79¥ = 128 33,180
O2HAH| 25,000& = 79¥ = 128 23,700
O&X&&l 70,0008 = 79¥ = 30¢ 165,900
Otz &=&dl 60,0008 = 7998 = 1038 » 62 284,400
OHsEd oz
1,000,000& * 30 * 103l 300,000
o3 E=sY 93,600
og= 300,000& = 6% = 128 21,600
o= 300,000& * 178 » 123 61,200
OZ2X 150,000& = 6 = 128 10,800
ORsd Y HAS 100,000, 000& 100,000
OdlE2E= S 20,000& = 79¥ = 128 18,960
OoflA&X= L MAHAUE FOt
30,000,000& = 42| 120,000
OXNF2ESIIR AFE=INMNE 29
1,000& = 900P » 79 71,100




M MsSAEL
M ASHE &=
oelr M2HS 84 X (el @2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OXNE2SEIIR NXHH BY=3 684,840
OE&AZ 3,601,800,000&¢ = 1/12 300, 150
OHZLEH 3,601,800,000& = 3.06% 110,216
(OFSPIETRIN--! 110,216,000& * 6.55% 7,220
O=0d=82e=2 3,601,800,000& * 4.5% 162,081
OongsgsEssfdg=2 3,601,800,000& * 1.5% 54,027
Ottt Mol BAEE 2
3,601,800,000& * 1.42% 51,146
ogXed=28 L=t 14,000
Oogtst=2l 9& 200,000& * 108 = 7H 14,000
OME 2d & HIIES 22,000
Ogs=2 55 200,000& * 6 * 1Y 13,200
O0tetEs e 75 100,000 * 88 * 11¥ 8,800
OEdE I=H| 11,200
ogst=e 78 200,000 * 85 * 7Y 11,200
O&ER 1= 17,600
ogst=e 78 200,000& * 8& * 11Y 17,600
OHAEEZR I =H| 16,000
ogtstEe 75 200,000 = 8& = 10Y 16,000
OMNZEIZZE I =£H| 9,600
ogs=s2 73 200,000& = 8% » 6YH 9,600
OZOMAAAE T =H| 12,800
OMZBER 75 200,000 * 85 = 8Y 12,800
OWXS=2 1Ul=Hl 14,000
OgYtst=2l 9& 200,000& = 10& » 7H 14,000
OLBAIASR Tl =l 24,000
OANA =22 95 200,000& * 10& » 12%Y 24,000
405 XHo&HFE S HI 35,000 286,728 N251,728
01 JHMHY =2 Z F = H 35,000 286,728 N251,728
OXMNMSSHIE NP 35,000
OS&E XS 35,000,000& = 1CH 35,000
SIS R0 M=203 20,000 20,000 0
307 QI2t0| ™ 20,000 20,000 0
04 QI2FSH AFAFS & X 20,000 20,000 0
OM163 SI=2NMSR0 =203
20,000,000& * 13 20,000
3.1 CEOIENS 20,000 20,000 0
307 212t0| & 20,000 20,000 0
04 QI2tSH AFAFS B X 20,000 20,000 0
©3.1&8 &= Oi2tEU 3 20,000,000 = 14 20,000
B2 ZSNFTAUSII M2 FRUE 50,000 40,000 10,000




SN HSTED
M AN HE AE
ool M2XS sS4 N CER-ED
4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 50,000 40,000 10,000
04 SIZ2ISHAAIH E & 50,000 40,000 10,000
OHMB33 &= T NHPAUSIAD| =2 AU
3| 50,000,000& * 13| 50,000
2017 St3t3 &l M= AAUS 60,000 0 60,000
307 212t0| & 60,000 0 60,000
04 SIZ2ISHAAISHE E X 60,000 0 60,000
©2017 ctatal ZHl =2 A2 3
60,000,000& * 13| 60,000
M3 S SEMIIIE &I saY 22U3 25,000 0 25,000
307 2I2t0| ™ 25,000 0 25,000
04 CIZ2tSHALALS B X 25,000 0 25,000
OM34s =EHIHIIE &I HetAY 22
CHsl 25,000,000 = 13| 25,000
=2 dEdsE =203 15,000 0 15,000
307 QI2t0| ™ 15,000 0 15,000
04 CIZ2tSHALALS B X 15,000 0 15,000
OHMb5Ig M2 EHESYE 2203
15,000,000& = 13| 15,000
2017 8=2HM& L dI2HMHAME X 212,012 0 212,012
& 106,006
Al 106,006
201 LBt | 212,012 0 212,012
& 106,006
Al 106,006
03 Al A H| 212,012 0 212,012
OZJ|& StWEXE & otA 89
206,012,000& = 14l 206,012
& 103,006
Al 103,006
OHd3tss A 6,000,000& = 1A 6,000
= 3,000
Al 3,000
oIS 4 K& 536,726 452 415 84,311
J| 40,215
o=} 16,086
Al 480,425
0o M= 243t 335,296 341,415 A6,119
307 QI2t0| ™ 335,296 321,415 13,881
02 QI2tAMAIE E =X 141,000 134,500 6,500
OXMUMEN=IE 22X 41,000,000 41,000
OHOMR F=3WA 24  25,000,000& 100 A 25,000




R s R SE=an);
M MIHME AE
?2: ZeHE 84 X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OM11sl MIFHMMSMHM=U =d
7,000,000& = 13l 7,000
OHM9gl =g d=sUz &=d
5,000,000& = 13l 5,000
OF=s0tel sotESH=sUs &
5,000,000& = 13l 5,000
OHM37al E=ZMHAMIHS =&
25,000,000& = 13l 25,000
OHM14a E=F0e SAHMSUHE &=
3,000,000& = 13l 3,000
OM11sl S=ZHOCE0IS MEMSUHI =&
20,000,000& = 13l 20,000
O&d=tHal &It A4l 10,000,000& * 13l 10,000
03 2IAHMEHE2HHIES 194,296 186,915 7,381
OF=A HOHHM=3 294 194,296
OJles 107,307,000& 107,307
OF=1 14,282,000& 14,282
O=cl=4l 46,127,000 46,127
Og =&l 3,300,000 3,300
OXNMZ PR+ HH| 3,600,000& 3,600
OO0l 3,000,000& 3,000
OgEr 3| 16,680, 000& 16,680
EFAED BOHQ IR =Z 3 8,000 8,000 0
307 gl2tol & 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
OM3z HFAMEI HOHAMIA=ZHS
8,000,000& = 13l 8,000
HFFAEI HOHQ MBS SRS 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
OHNB8sl HFAIEI HOUHUMEME XU
,000,000& = 13 8,000
EFAEI HO0H MEHs E=WH 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 QIZFHALAIH B & 8,000 8,000 0
OHM9sl HEFAIEI HOUUMEMSE ESUHE
8,000,000& = 13l 8,000
EFANEI ZOHA=2CHE 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 QIZFHALAIH B = 8,000 8,000 0
OM73 HFAIEI o0 532U
8,000,000& =+ 13l 8,000




EM MENEDL
g MME &S
el ZHAME 54 X2

(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
EFANEI S8 BHELEWS 8,000 8,000 0
307 gl2tol & 8,000 8,000 0
04 DI2ZHHALALSE E X 8,000 8,000 0
OHMB8al HFAZEI HSHUBECIEHS
8,000,000& = 13l 8,000
E=ANEI ZOHAAHOIESUHS 12,000 8,000 4,000
307 21201 A 12,000 8,000 4,000
04 DIZHHALALSE E X 12,000 8,000 4,000
ORMb53 H=AZEI| ZOHAANOESUHS
12,000,000& * 13 12,000
X A =201 e BH B =33 22,000 20,000 2,000
307 glz2tol & 22,000 20,000 2,000
04 QIZFHALAIH B = 22,000 20,000 2,000
ORMB8a AXIHH M2ZOHBESUESH AU
22,000,000& * 13l 22,000
X M=F0He E2U3 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
04 QIZFHALAIH E = 20,000 20,000 0
OXXH M= AE=SUE
20,000,000& * 13l 20,000
X d2ZOHAEMAHY Hd+=2HS 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
04 DI2HHALAISE E X 15,000 15,000 0
OHM62l AXHH dIEMOHA =AU 3
15,000,000& * 13l 15,000
X XBZHOHL sMH2 8,000 8,000 0
307 gl2tol & 8,000 8,000 0
04 DIZtHALAIHE E X 8,000 8,000 0
OHM8sl X XNEZHM =23
8,000,000& = 13l 8,000
H2sl #F=AIEI| =0t S8 U3 4,000 0 4,000
307 21201 A 4,000 0 4,000
04 DIZHHALALSE E X 4,000 0 4,000
OHM23 HFAHEI =0t U3
4,000,000& = 13l 4,000
ZOHIMEH SIS X B X 80,430 0 80,430
| 40,215
< 16,086
Al 24,129
307 21201 A 80,430 0 80,430
| 40,215




2N
X ZH -
L= B

ool B

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 16,086
Al 24,129

02 QIZ2IA AAIE E X 80,430 0 80,430

OZOME =K =X BHXI

26,810,000 » 3¥ 80,430
J| 40,215
& 16,086
Al 24,129

MEH=s 243 2,717,686 3,648,287 A 930,601
J| 576,214
& 71,265
Al 2,070,207

ALXHISHAE K& 384,168 272,191 111,977
J| 268,918
& 57,625
Al 57,625

301 LBt A= 384,168 272,191 111,977
J| 268,918
& 57,625
Al 57,625

01 Al B & A 46 2 384,168 272,191 111,977
OAZ=2AX old X 96,042,000 = 43 384,168
J| 268,918
o= 57,625
Al 57,625

UBH(M UM )M EH = K T AHEH X 348,504 332,958 15,546
J| 166,452
& 4,680
Al 177,372

307 QI2t0| & 348,504 332,958 15,546
J| 166,452
& 4,680
Al 177,372

02 QI2tAAMAIE E =X 348,504 332,958 15,546
OLBtME Y S A= AFHE Xl 87,126,000 * 43| 348,504
J| 166,452
& 4,680
Al 177,372

HENH LM MEH=A XX 294,888 281,374 13,514
J| 140,844
& 3,960
Al 150,084

307 2Iz2t0| & 294,888 281,374 13,514
Dl 140,844
= 3,960
Al 150,084

02 QI AAIE E X 294,888 281,374 13,514




EM MENEDL

M AN HE AE
e MEHs 243 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
oA ME Y =X = Xl X
73,722,000 * 43| 294,888
J| 140,844
o=t 3,960
Al 150,084
ANZMEHM S XX B X 27,936 27,936 0
307 2Iz2t0| & 27,936 27,936 0
02 QI AAIE E X 27,936 27,936 0
OXMFTANMEHYSK S RHI X (HE)
6,984,000 * 43| 27,936
MEH=E 4 XS 302,590 230,927 71,663
201 et 9| 1,470 1,407 63
01 AFR 2t 2| bl 1,470 1,407 63
OMEMH=ZELE=& S|
7,000 « 3¥ * 704 1,470
202 044 1,920 1,920 0
01 2L Y| 1,920 1,920 0]
OMEMN=HELE=& U]
20,000 * 3% x 42 x 83 1,920
307 QI2t0| & 299,200 227,600 71,600
02 QI2tAMAIE E =X 299,200 227,600 71,600
OMZ273 =3 MEN=sUg &
85,000,000& * 13l 85,000
02017 SE=S XA € SE€3 &) MEH=
=248 s &d 27,000,000 27,000
02017 MEH=E ==Y d=20U3 &4
10,000,000& 10,000
02017 &= L T MEHFUI WIS
10,000,000& 10,000
OHM123 EFE2C 22X MESHEUHa &
17,000,000 = gl 17,000
OHM103 E=08dMEHsUE 2N
8,000,000 = 13| 8,000
OM18s EHEZ M3 EH 2UHEHE =R
s &H 2,000,000& = 13| 2,000
02017 ==SNESHLUE &8
8,000,000 = 13| 8,000
©2017 MENSX=XH(25H) MM AFS (X
SOHAHl, MY, A4S )129,200,000< 129,200
02017 EFANNMES AL FIAS
3,000,000 = 13| 3,000
MEHFT AMUALSE ALY 347,000 326,000 21,000
307 gizto| & 347,000 326,000 21,000
02 QIZHA AAIE B X 347,000 326,000 21,000
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Ce: MEH= st (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
©2017 Sold|ctet=s8 B WA 10,000,000 10,000
O=20HME100 EFMEUSHEH 29
30,000,000 30,000
02017 MEH LA 29 281,000,000& 281,000
OMEH=wWA 525 WA 5,000,000& 5,000
©2017 HelOldlsnae 249 6,000,000 6,000
OwsE = SHAE ATX DY 29
15,000,000& 15,000
HFANHEIH) MEHSE SSEUHS XN 42,000 42,000 0
307 QI2t0| ™ 42,000 42,000 0
04 CIZ2tSHALALS B X 42,000 42,000 0
OXFAEESZ) MEHESE=2Y 43(308])
42,000,000 42,000
MEH = H ALK 90,000 50,000 40,000
307 QI2t0| ™ 90,000 50,000 40,000
04 CIZ2tSHALALS B = 90,000 50,000 40,000
OM= ALK A 10,000,000& = 93] 90,000
A MEH= d=2HLANE 30,000 30,000 0
307 2I2t0| ™ 30,000 30,000 0
04 SIZ2HSHAAISHE E X 30,000 30,000 0
©2017 E X , M IAMAAMYY MY S H=2H LA
CH&l 30,000,000& = 13 30,000
XX =2 ol=H L ATHS 10,000 7,000 3,000
307 QI2t0| & 10,000 7,000 3,000
04 CIZ2tSHALALS B X 10,000 7,000 3,000
OHM43 ZXXHH 8= Ol=HILIA HE
10,000,000 = 13| 10,000
HZ=A 1-2l2 45,600 45,600 0
307 giztol A 45,600 45,600 0
04 CIZ2tSHALALS B = 45,600 45,600 0
O N33 A=Al |-212(63l) 45,600,000 45,600
HFEAEYD MEH=E S2US 12,000 12,000 0
307 212t0| & 12,000 12,000 0
04 CIZ2tSHALALS B X 12,000 12,000 0]
OM43 HF=AXD MEHE SF2UI
12,000,000 = 13| 12,000
HE=ANAEDI MEHSE HOE=:US 6,000 6,000 0
307 QI2t0| ™ 6,000 6,000 0
04 CIZ2tSHALALS B X 6,000 6,000 0




SN HSHED
M MBS IE
A

e MEHs 243 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OHM32s HFAIHEI MEH=E HOE=UHS
6,000,000& = 13| 6,000
HFANED MEHNE &SR0 10,000 10,000 0
307 2Iz2t0| A 10,000 10,000 0
04 QIZFH AL AR 2 & 10,000 10,000 0
OM43 HF=AADI MEHF ESEFRUI
10,000,000& = 13 10,000
HFEAED MEHS SIZUE 6,000 6,000 0]
307 212t0| & 6,000 6,000 0
04 CIZ2tSHALALS B X 6,000 6,000 0
OM43 HF=AXI MEHFE SI=UI
6,000,000 = 13| 6,000
HE=ANAE MENS A LIALS 6,000 5,000 1,000
307 QI2t0| & 6,000 5,000 1,000
04 CIZ2tSHAPALS B = 6,000 5,000 1,000
OM43 HF=AEH MEHE HHHLALS
6,000,000 = 13| 6,000
HE=ANAU MEHE BECYLIHSE 7,000 7,000 0
307 gizto| A 7,000 7,000 0
04 CIZ2tSHALALS B = 7,000 7,000 0
OM43 HEFAIEH MEHE BCLYHS
7,000,000 = 13| 7,000
HEANED MEHF OFFRUS 10,000 10,000 0
307 2iz2tol & 10,000 10,000 0
04 DIZHEHALAFRI B X 10,000 10,000 0
OMA4s HFEAADI MEHSF OFFRUS
10,000,000& = 13| 10,000
HF=ANED MEHE SFRUS 8,000 8,000 0
307 2Iz2t0| & 8,000 8,000 0
04 QIZFH AL AR 2 & 8,000 8,000 0
OHM33 HEFAHI MESH=E EF2USI
8,000,000& = 13 8,000
HEAAD MEHNs J2d2E2Z0U3 6,000 6,000 0
307 212t0| ™ 6,000 6,000 0]
04 SIZ2ISHAAISHE E X 6,000 6,000 0
OM33 HFAIEDI MEHs D222
6,000,000 = 13| 6,000
HEANAED MEHNS HFRUS 6,000 6,000 0
307 QI2t0| & 6,000 6,000 0
04 CIZ2tSHAPALS B = 6,000 6,000 0
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OM33 HFEAIADI MEHF BHFRUS
6,000,000& = 13| 6,000
HFEANED MEHNE 82 HHAS2401E2UHE 8,000 8,000 0
307 2Iz2t0| A 8,000 8,000 0
04 QIZFH AL AR 2 & 8,000 8,000 0
OM4z HF=AIAD MEHSF d20HZ22H0/E
CHEl 8,000,000& = 13 8,000
HEAED MEHMS HLAWUE 8,000 8,000 0]
307 212t0| & 8,000 8,000 0
04 CIZ2tSHALALS B X 8,000 8,000 0
OHM33 HFAIED MESHS HLAHS
8,000,000 = 13| 8,000
HTAIZD| MEH SAU3 8,000 6,000 2,000
307 QI2t0| & 8,000 6,000 2,000
04 CIZ2tSHAPALS B = 8,000 6,000 2,000
OM23 HFAIED MEHE SAUI
8,000,000& = 13| 8,000
HE=ANEU MEHSE 203 6,000 6,000 0
307 gizto| A 6,000 6,000 0
04 CIZ2tSHALALS B = 6,000 6,000 0
OHM43 EFAEH MEME SF2US
6,000,000 = 13| 6,000
HEANED MEHF HELUEHUH S 12,000 12,000 0
307 &l | & 12,000 12,000 0
04 QIZ2tSHAFALS B X 12,000 12,000 0
OMA4s HF=AXDI MEHF HECIEHWH S
12,000,000& = 13| 12,000
HF=ANEH MEHE = U 6,000 6,000 0
307 2Iz2t0| & 6,000 6,000 0
04 SIZ2ISHALAISH E & 6,000 6,000 0
OM33 HF=AAU MEHST =SS U
6,000,000& = 13 6,000
HEANEYD MEME 20U 6,000 6,000 0
307 212t0| ™ 6,000 6,000 0]
04 SIZ2ISHAAISHE E X 6,000 6,000 0
OM33 HFAIED MEHE 203
6,000,000 = 13| 6,000
HFEANEYD) MEHE U 6,000 6,000 0
307 QI2t0| & 6,000 6,000 0
04 CIZ2tSHAPALS B = 6,000 6,000 0




SN HSHED
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SA BB (SH) - NRAY - B Ol At o %@i HRE2
OHM3a EFAHI MEH=E 72U
6,000,000& = 13| 6,000
HIMHAA H¥SOI2HEAU S 220,000 220,000 0
307 2Iz2t0| A 220,000 220,000 0
04 SIZ2HSHAAISH E & 220,000 220,000 0
OHM153 HIAMAA HHSOIUHEAUS
220,000,000& = 13 220,000
HIAMHM)|] 200MEH ST B2AZEUE 15,000 15,000 0]
307 212t0| & 15,000 15,000 0
04 DIZFSHALAIRI B X 15,000 15,000 0
OHM143 HIMIMN)| Z0OMEHST H2ALA
CH3al 15,000,000 = 13| 15,000
HAMHAAMG M=2F]03 45,000 45,000 0
307 QI2t0| & 45,000 45,000 0
04 CIZ2tSHAPALS B = 45,000 45,000 0
OMb53 HIAMAAH M= =203
45,000,000& * 13l 45,000
HZ= AU LE MEH=s HHEEUHS 25,000 40,000 A 15,000
307 gizto| A 25,000 40,000 A 15,000
04 CIZ2tSHALALS B = 25,000 40,000 A 15,000
OHM3z XU 2 MEH= BHEAEU I
25,000,000& * 13l 25,000
MEHE HEFAQ A22I03 25,000 20,000 5,000
307 2iz2tol & 25,000 20,000 5,000
04 DIZHEHALAFRI B X 25,000 20,000 5,000
©2017 MEMNF HFAIQ A22I/Ug
25,000,000 = 13| 25,000
HF=A MEH=UE 95,000 95,000 0
307 2Iz2t0| & 95,000 95,000 0
04 SIZ2ISHALAISH E & 95,000 95,000 0
ONA4s HF=A MEM=FS
95,000,000& * 13| 95,000
HEAN MEHMFHHZ2EY SO EH 8,000 8,000 0
307 212t0| ™ 8,000 8,000 0]
04 SIZ2ISHAAISHE E X 8,000 8,000 0
OHM43 HF=Al MEHMSAHAHZE SOIEEH
8,000,000 = 13| 8,000
MNXAE S22 HAEEY 28,000 28,000 0
307 QI2t0| & 28,000 28,000 0
04 CIZ2tSHAPALS B = 28,000 28,000 0
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©2017 XA 22 HAEEY
28,000,000 = 13| 28,000
AX =2=2dU3 35,000 35,000
307 2Iz2t0| A 35,000 35,000
04 SIZ2HSHAAISH E & 35,000 35,000
OHM10a &XHl d=2=203
35,000,000& = 13 35,000
ES=AEE2U 3 30,000 30,000
307 212t0| & 30,000 30,000
04 CIZ2tSHALALS B X 30,000 30,000
OHM143 &= & E&320U3
30,000,000 * 13| 30,000
AR M=2ZAMSE 40,000 40,000
307 QI2t0| & 40,000 40,000
04 CIZ2tSHAPALS B = 40,000 40,000
OHM43 XX M=ZF&03
40,000,000& * 13l 40,000
HIAMHAAG] M=2ZAF 20,000 20,000
307 2iz2to| A 20,000 20,000
04 CIZ2tSHALALS B = 20,000 20,000
©2017 HMAMH MIZAYF
20,000,000& * 13l 20,000
= MEHSOFRUS 10,000 10,000
307 2iz2tol & 10,000 10,000
04 QIZ2tSHAFALS B X 10,000 10,000
OHM9s == MEH= Ot2U3
10,000,000& = 13| 10,000
EEIH & A 10,000 10,000
== 5,000
Al 5,000
307 2Iz2t0| & 10,000 10,000
= 5,000
Al 5,000
04 SIZ2HSHAALSH E & 10,000 10,000
02017 E=5H U&EH 10,000,000& = 13| 10,000
= 5,000
Al 5,000
2017 AlClgtE 224 Sg¢&2 201013 20,000 20,000
307 2iz2to| A 20,000 20,000
04 QIZ2tSHALALS B = 20,000 20,000
©2017 224 SdIZ 20/
20,000,000& * 13l 20,000




SN HSXED
M MIHME AE
chelr MEHS 248 (S5 &)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Hi12el SE=CHESMUEMSUHE 19,000 0 19,000
307 gl2tol & 19,000 0 19,000
04 DI2ZHHALALSE E X 19,000 0 19,000
OHM128 EEEZHEAMEMSUSE Mzl
19,000,000& * 13l 19,000
H10s SESTHLMEMSUHS 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 DIZHHALALSE E X 10,000 0 10,000
OHM10s sE=S=HdMEMIUE Al
10,000,000& * 12l 10,000
SSE FIICH ¥ SHs 2 244 3,000 0 3,000
307 21201 A 3,000 0 3,000
04 QIZFHALAIH B = 3,000 0 3,000
OZSLFIIGH L SUES 2o By
3,000,000& =+ 13l 3,000
SEHSANE &= 6,700,000 16,175,000 A 9,475,000
Xl 800,000
J| 3,000,000
Al 2,900,000
SIMSHHAE 58,000 0 58,000
401 Al HIZ 201 8] 58,000 0 58,000
01 A& HI 58,000 0 58,000
O=2XN=s4dE A8 58,000,000& 58,000
L-dEds2dXd 800,000 1,000,000 A200,000
Xl 800,000
401 AIEHI L 20 800,000 1,000,000 A200,000
Xl 800,000
01 A& HI 800,000 946,400 A 146,400
oOU=daEx=s3ad =4 800,000,000& 800,000
Xl 800,000
A AU e AEAY 4,737,000 4,000,000 737,000
J| 3,000,000
Al 1,737,000
401 Al HI K 201 I 4,737,000 4,000,000 737,000
J| 3,000,000
Al 1,737,000
01 A& HI 4,200,000 4,000,000 200,000
OF= AYAZE AHAY  4,200,000,000& 4,200,000
J| 3,000,000
Al 1,200,000
02 2feltl 530,000 0 530,000




SN HSXED
M MIHME AE
Sl BIUSAL =5 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFF AU dd AGAY Zalbl
530,000,000& 530,000
03 Al 2 THHI 7,000 0 7,000
OB AU E S 20|
7,000,000& 7,000
dF= 88l 5133 24 305,000 0 305,000
401 Al HI K 201 I 305,000 0 305,000
01 A& HI 305,000 0 305,000
CEESE1=P I B 2 |
250,000,000 250,000
oHF 2uUXT =72 =2y
55,000,000& 55,000
WMEHSSE MY WS 800,000 0 800,000
401 AIEHIZL 2CHYI 800,000 0 800,000
01 A& Hl 795,000 0 795,000
OU+=MEHSISIAXZ 0= XX 2l
795,000,000 795,000
03 Al 2 0HHI 5,000 0 5,000
OUMENsZAX =X HMel Al
220l 5,000,000& 5,000
HE2IAZH(MSEEDY) 71,647 68,514 3,133
JlE3l 28,008 25,924 2,084
JlE2&l 28,008 25,924 2,084
201 L2l 12,048 11,044 1,004
01 At 22l 12,048 11,044 1,004
OJl=ge=d s34 (01=24l)
6,000,000& 6,000
o=zt (OIE2dl) 6,048,000& 6,048
202 (4 Hl 12,960 11,880 1,080
01 SLHOIYI 12,960 11,880 1,080
OJIEZ 12,960,000 12,960
203 R =&l 3,000 3,000 0
04 FN2ELRZ=TH| 3,000 3,000 0
©J| & X (152101 5t) 250,000& = 12& 3,000
el 2 43,639 42,590 1,049
ol Al 43,639 42,590 1,049
101 124 dl 43,639 42,590 1,049
03 RIAHAZZ2THE 43,639 42,590 1,049
0TI 24 42,007
OoJlgs 2,200,000& » 1H 128 26,400




2N
X ZH -
L= B

el

R ESE=an);
HY2LZH (WS EDL)
el 2l

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
ozas+¢ 98,050 * 1¥H » 12&€ 1,177
OJLA X &bl 150,000& * 198 = 12& 1,800
O= &t 150,000& * 1¥ = 12& 1,800
OusE =Xyl 150,000& * 14 * 12& 1,800
OY ZE I 1,249,930& ~ 1H » 2& 2,500
OxU22E 306,000& * 1€ * 12& 3,672
Od Xt 82,880& x 1&¥ » 20¢ 1,658
Os=< 100,000& » 1¥9 = 128 1,200

OXXIEHHM 22 1,632
OALEE 26,400,000& * 3.06% 808
O&IAEE 807,840& * 6.55% 53
OnNsEed 26,400,000 * 1.50% 396
OMMES 26,400,000& * 1.42% 375






